OIS y = 3ar? ©] T2} 0} 33} TS

E =2

Y
o, 4= a o gho] Wel=?
@a>§é @0<a<g
® a 3 @ 0<a<1




ODAAHO O©Am6e Bemae & oue 6 0.6



& oA y = alx-p)? +q 9 ATt 4, p, g 9 HEE

’yl\

\/0x'

®a>0,p>0,g>0 @ a>0,p>0,g<0

® a>0,p<0,g<0 @ a<0,p<0,g<0

® a<0,p>0,g<0



%%Q,XQ—QX—?):OQJ

H_OL
o

Al x2-x-1

,a’—a—b*+2b ] 327

SH
=

S

@ 1 B 2

® 0



5. OoAFAHA 2 +4x-1=0E (x+a)? =02 EZ 1F 1], ab 9
W& Totolet

B
=¥



1

o
™
ol
ofie

B 4% 5

a+4°f gt

olJ
RS
N
B

Ho

A
K
o

Nfo
B

© a=-409]

© a

)
58

K

i

©

—5 o] 454l

® 6,0 @060 G006

@ ©

O ©



O A 242 fax+bh =09 F 2012, 3A 2 —pxt+a=0
o] F & oHH?

®1i\/E ®4im @61\/4_6
@ 6+2+13 B 6+2vV26



si7h 2, 3 ol2t

P 4ax+b=02

27g A
0 9]

ol 2

8.

ol
Ho

ol
o
il
W+

ax+ 6

T

Ho

L, -
10 | © "

| ©ho
I R

@ @

—

1__ | —
O HD Mo
Mo ;, L,

NN o lNoN B Yo
0o | I

I 0 on

©@ © ©



SR

1

La+—

<

O A 2x2 +8x+2 = a 2t

9.

a

tolet. (T a#0)

S

?.



o
<
of
o

G

i

i

Tod

ol
N

L—a =

A

(x+1)°

B:-1-+3

3 3

@ 1



11.

o] 5-2V3 2l o]y

~ b o] gHe Fatolet,

AlS
=

4> +bx+c =09 EZ Yed



12.

RIS

|

W

(@3

b
o

o
e & 5

-{Oll =

=2

B
-{Oh

Az

& 40m o SER Kot &7 £

= 407 - 5¢2 O]n]— 511]7]_ Z]quﬂ
A7F
@6x%
®9xs

o
g o]

s

o] %o

A& AL zo

]_

h
KeX
=

[HUAN



@ 9

B 8

@D 6



©y=2x*-1

@ y=-3(x+1)2+1




Do, 600 0.6 ®oe GG,0

©
_>|~1_|(
Qll
>
=
I
|
=
_|_
8
|
—
10
[
)
=
=2
fu)
e
e,
g,
©
v




16.



17. olA3H4 y = 2(x-4)2 =6 O] THLE ¢ F PFo p A, y 5
WO R ¢ W BalolEato] y = 2(x+3)2 + 3 0] HTh. p g
Zhe



18. o]y = x% +2x -3 9] L7} x H3
= Aol RS 44A B 2okl 34
o] 225 C 2t shAk o] [ AABC 9] Hol&
F-stefet.

L —
)

TH—

OZ



19. oAFFFA 2-mx-2=09 F ZZ o, L S W, a?8+ap> =4
A o, m o] & Fstofz=t

e =
c



20.

th& 27} o] gk o] Zol7t 20em 91 A
AtZ+9 ABCD 7t 9ieh. A F & ¥ BC 91E
HCEEHB7ZIA iz 2cm 9] £¥o2
=2oli, ¥ E+ ¥ AB 91& ¥ B 27H
A7ZMA Wiz 1em O] £ o7 F2lo]a gl

F A E, F7FgAol SUotdvd 2 2 %

ol sBEF 9] oI/} 42k wole] - #h
=) Fatole),

Qe
»

o o

%

P




2
1.
e
a3
2] o
O
011}
S
=a
X2
+
b
X
_|_
C
9
a
#f
molet,
ArZ
ZAgs
3|
A
B
C

o > =X
e
)7} 1
2 [e]
> o
o
9 A‘:“|—7
7}8)
BCD 9]
Ho
‘I =
=
stof
o

yl




22, y=a?+bx+c o IHZ IR ZE W, y = cx? + bx+a 9
o] mef2 ol ARIZE?

yl\
y=az’+b+c
\i/ i
@® @
Y Y
O x
®
Y © Y
A— o\ «
v /N
®
Y
VAW




of ot
2 +gx-3=0°] ¢

=09 TEa xP+gq o9
23. olArA4 xz_px+21_g}:z]_ Lo, a2 4 b2 9] S Fokod

. pr+1=09

bﬂ'o]—_]_ pa—gq

Qe

fijo



24.

o] xpHFA 4]

o

o 1

Qe
»

a—

2

2 tax+2a+1=0° AR CTE F L&

Sl BE A% 9] S Fofolat

£

=]



25. the 1AW ol T oAFS y =2,y = a2 o] T 0]
= A A, B, C, D 7} BAHLEL o] 0, ;HD_,] FAE )

yll y: 22.;2

@ 1 ©)

JURN V)



